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L. Answer the following questio ) '
es of the bl‘aln, Musc

Drv fruits are useful in various dised* weakness ang les and tissues. In particular, almonds
brain Strengthen it. Almond preserves the vitality

have unique properties to remove *' 4 dest
of the brain, strengthens the 111uSC!°5; an
disorders. Walnut is another dry V!
weakness.

roys disencn L
( OSsess 1Seases originating from nervous and bilious
t that p ¢S Wonderful qualities of curing brain

According to Dr. Johnson, almonds. f,gSj ﬁfﬁ::&daxes, apples, and oranges are rich in
phosphoric elements and should norman) full of by brain workers. Phosphorus nourishes the
vital tissues of the body. It keeps the mind [U OF enthusiasm for more work.

1.Dry fruits are useful because they
(a) strengthen our heart '
(b)cure various diseases of the brain. !
(c)give confidence to us

(d)empower us to do challenging tasks.

muscles and tissues

2.Which one is not a property of almond?

(a) It preserves the vitality of the brain

(b) It strengthens the muscles

(c) It destroys diseases originating from nervous and bilious disorders

(d) It strengthens our digestive systen.

3.Phosphoric element is greatly found in
(a)almonds, figs, grapes, dates, apples and oranges
(b)almonds, figs, papayas, guavas and pineapples
(c)all the green vegetables

(d)seasonal fruits.

4.Brain workers should take fruits rich in phosphoric element because
(a)they remove brain weakness

(b)they nourish the vital tissues of the body

(c)they keep the mind full of enthusiasm

(d)all the above.
5.The word unique means the same as
(a)ordinary (b) highly qualified (c) unusual (d) enlightened

6. According to , almonds, figs, grapes, dates, apples, and oranges are rich in
and should normally be used by brain workers.

7. Choose the correct group of dry fruit:

(a) Date, Guava, Mango (b) date, figs, almond

(c) Apple, orange, Grape (d) Figs, walnut, orange

8. Phosphorus nourishes the vital of the body. It keeps the mind full of
enthusiasm for more work. T

(a)Cell (b) Tissues (C) Skin (d) Bones
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Section oo and ‘
B-writin€ © ' yords, 00 "My Grandmother,
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1l. Write a descriptive para
Braph i, 2
about 1001

input given below:
most amazing person — incrediy
the funniest laugh — helpfy| Wha|
— trustworthy--—-makes the best idli
everyone who meets her wil| chefis'; if!nd payas?
IIL. Fill in the blanks by °h°08ing sui(:;i,\;irform of adjective given in the brackets

ets, 3M

1) Uttar Pradesh is the of India. (more, most)

2) Delhi s __than Chemnai. fof, purtc” *yest) L
er,

3)Hisideawas ___ than Ming, (bad/worse)

___ puts a smi
Y sensitive pers®” b Mile on our fac
s — always welcomeg

t : es — had o 7
L nW |4
the situatio ™" aised metobeap,

Buests — friendly
etter person —

IV. Select the most suitable collective noun to complete the sentence, 3M
1)The___ of musicians Played for hours: (orchestra/crowd/herd)
2) The of students wera listening to the lecture attentively.
(team/class/herd) en
3) The flock of sheep was grazing j ;
B in the fi whilea___ ofcro

the tree. (fleet/flock/murder) he fields, Ws perched on
V. Fill in the blank by choosing ang i di

chaneing the given wor into adverb.
outside, rare, brisk anging M
1)The athlete jogs in the morning.
2)She is seen at social event

Section C - Literature
V1. Read the extracts given below and answer the following questions. 6M
A.They walked and they walked, and all of a sudden the wolf lifted his nose, sniffed, darted
quickly off the path and into the bushes gnd crept deeper into the forest. The dog w;zs much
surprised. “What's come over you, master?"’ he asked. “What has frightened you so?”
“Can’t you see? There’s a bear out there and he might eat up both of us — you and me.”

1)What made the wolf move towards the forest?

2) “Can’t you see? There ‘s a bear out there and he might eat up both of us — you and

me.” Who said this to whom?
(a) The dog told it to the bear.
(c) The wolf told it to the dog.

3) Write the synonym for the word ‘quickly’.
(a) Gradually  (b) Swiftly (c) Strongly (d) Faithfully '

(b) The dog told it to the wolf.
(d) The wolf told it to the lion

B.What is a house?
Its brick and stone
and woods that’s hard.
Some window glass and
Perhaps a yard.
1. A house is made up of
a) Brick b) Stone c) All of these

2.Perhaps a yard —here yard means
a) Measurement of house b) Ground attached to house c). Materials of house

3.The poet of the poem is
a)Sarojini Naidu b.)William Blake ¢). Lorraine M. Halli
VII. Answer the following questions.
1. Why did the little man grant patrick a wish? am
2. What was the farmer’s comment on his wife’s fears? M
3. List out the action words used in the poem and write the meanings for any three words.
3M

4. Do you agree thata person is known by the company he keeps? Give reason to support
4M

your answer.
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SET - | i
I. CHOOSE THE CORRECT ANSWER: (10X 1 = 10]

1) The greatest 4-digit number formed by the digits 7 4,9,1is

a) 7491 b) 9471 c) 9741 d) 1479
2) What is the place value of 8 in 3846947

a)8 b) Ten thousands ¢) 8000 d) 80,000
3) How many centimetres make 1 kilo metre?

a) 1000 b) 10,000 ¢) 1,00,000 d) None
4) The numeral for 'Eight lakh seven'is

a) 800007 b) 80007 c) 8000007 d) None
5)1,00,000 — 1=

a) 9,999 b) 99,999 ¢) 19,999 d) 10,000
6) The successor of 27,499 is

a) 27,498 b) 27,490 c) 27,500 d) None
7) The smallest whole number is _

a)l b)0 c) 10 d) None
8) The predecessor of 48,900 is

a) 48,800 b) 48,890 c) 48,899 d) None
9) Which of the following numbers comes to the right side of 574 on the number

Line ?

a) 573 b) 575 c) 500 d) None

10) Which of the following natural numbers has no predecessor?

a)l b)9 c) 10 d) 1000
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| Choose the correct answer 7x1=7m

1.Rajuis suffering from tooth decay and bleeding gums,

Which of the following nutrients in food would help him recoyers
A Vitamin A and calcium

B. Calcium and vitamin C

C. Vitamin C and iodine

D. lodine and vitamin A

2.Which object is commonly made of plastic?

A News paper B. chalk piece

C. Cooking vessel D. Water bottle

3.Neeraj spilled some water on the floor. He cleaned the floor using a mop. Which material is
best suited for making the mop?

A.iron scrubber B. Cotton cloth

C. Plastic sheet D. Copper sheet

4.This chemical is required to test a food items for carbohydrate

A. lodine solution B. Caustic soda

C. Copper sulphate solution  D. Water

S. Which of the following is not a nutrient?

A. carbohydrates B fats C. proteins D .water
6. Metals have shiny appearance called:

A. Smoothness B. Lustre C. Conduction D. Transparency
7. Which of the following statements is not true:

a) Materials are grouped for convenience.

b) Materials are grouped to study their properties.

c) Materials are grouped for fun.

d) Materials are grouped according to their use



I1 Fill In the blanks TX1=7p,
'one Is hard and so it
1.Astonelsh ———_In water.

2.5ponge can be compressed easily hec

AUSC | o ____Materig|.
[

3.Materials through which objects cap, ba seen, but not clearly, are known as
!

—— -

I ~—~———
4 olves In water so t IS ca g
ASugar diSS l "Qd I tance

5__ Is also known as dietary fip,

6.Cating food rich in _

in excesg Causa obesity.

7.Rickets is caused due to deficiency of

i Answer the following

5X 2=10Mm
1.What is a balanced diet?

2.How do you test a food item for fats?

3.Are gases soluble inwater? If o, &xplain wit, example

4.List any four properties on whicl materials ara grouped

5 What are deficiency diseases ?

Iv Answer the following

4X3=12Mm
1.Mention the functions of proteins, vitamins and minerals.

2.List the symptoms of protein deficiency.
3.List the properties of metals.

4.Explain about transparent and opaqgue materials with an example each

V Case based question am

We know that each dish is usually made up of one or more ingredients, which we get from
plants or animals. These ingredients contain some components th
These components are called nutrients.

1) What are nutrients? 1m
2) Name ali the nutrients present in our food? 2m

3) Along with nutrients in our food what are needed by our body? im

at are needed by our body.
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I. CHOOSE THE CORRECT ANSWER 5X1=5M

1

. The Indian Flag was used as a symbol of

"

Nehru coined the phrase “Unityin_____
a) Strength b) Respect ) Diversity d) None of these
~———_against the British.

a) Protest b) Slogan ¢) Power d) None of these
is the closest planet to the Sun, ,

a) Mars b) Jupiter c) Mercury d) Earth

Uranus takes hours to complete one spin o jts axis.

a) 17 b) 24 c)27 d) None of these
is a Latin term meaning ‘ in the year of the Lord’.

a) Anno Domini  b) Before Common Era ¢) Christian  d) Before present

II. FILL IN THE BLANKS 5X1=5M

1
2.
3.

The British open fired on unarmed people 3t

The is the only natural satellite of the garth.

Historians and Archeologists are like — whouse clues to find out about
our pasts.

The National anthem describes the of India.

Scripts written on hard surfaces are called as

lil. ANSWER THE FOLLOWING 5X2=10M

1.

AW

What is an asteroid? Name the largest asteroid.

Do you think unity in diversity is an appropriate term to describe India?
What is the necessity to know about the past?

What is an orbit?

Write the physical features of India,

IV. ANSWER THE FOLLOWING 4X3=12m

1
2.
3.
4.

What does Jawaharlal Nehru say about unity in his book?
Describe the characteristic features of stars.

Distinguish between the lives of kings and farmers.

Why is the Earth called a unique planet?

V. ANSWER THE FOLLOWING 2X4=8M

1.

How did India get its name?

2. Write the difference between Samir Ek and Samir Do.
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SUBJECT: COMPUTER gcience

CLASS: VI MARKS: 20M
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\
Instructions: 1. Read and Answer all the questions carefy),
2. Maintain good handwriting.
3. Answer all the questions in the answer sheet only.
4. This paper contains ONE PRINTED PAGE.

T —————

I. Choose the Correct answer: 5X%=2%M
1. Which of the following is a Microcomputer? ‘
(a) Desktop (b) PDP-11 (c) PDA 1
2. Which of the following options is used to display all the selected images as a slide show?
(a)Slide show (b) Share with (c) Print

3. Which of the following is not an example of embedded computer?
(a) Microwave (b) Digital Camera  (c) Smart Watch
4. Which of the following is a video format?

{a) wmv (b) MP3 (c) AAC
5. In Windows10 which feature that aliows you to view recent documents pinned to the taskbar
(a) Sneak (b) Jump List (c) Snap
Il. State True or False: AX%=2M

1. Optical discs like CDs, DVDs and Blu-ray do not require an optical disk drive to connect to the
computer.

2. Minicomputers are smaller than Mainframe computers.

3. Organize menu in the Picture folder provides various options to copy, delete and rename
images.

4. Digital Computer uses digits to generate process and display data.

lil. Fili in the Blanks: 5X%=2%M

1. Windows 10 provides --------------- folder to store images and photos.

2, e computer can easily be stored in our pocket and used by holding it in our hands.

3. USB flash drives like pen drive and memory card are connected through---------- connector. ‘
4. Heartbeat measuring machine is the common example of the -------------—--- computer. ;
5. In Pictures folder ------------ option prints the selected images. "
IV. Answer the following 5X1=5M

1.What was India’s first Supercomputer?

2. Which feature in windows10 arranges two windows side by side to each fill half of the
screen?

3. How are the computers categorized?

4. Write the names of any two removable storage devices?

5. Name any two examples of minicomputers,

V. Answer the following 4X2=8M

1. What is a Computer?

2. What is Sneak feature of windows10?
3. Write about Hybrid Computers?
4. What is Windows Media Player?

**4£xA|| The Best™™ ***
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